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Aufgabe 1
Ergénze wie im Beispiel a).

a) 63,97 km = 63 km 970 m = 63970 m

¢) 6,5 cm = cm mm = mm
e) dm =9dm 5 cm = cm

g) dm = dm cm = 58 cm

i) 746,2 m = m dm = dm
Aufgabe 2

Ergénze wie im Beispiel a).

a) 58,96 t = 58 t 960 kg = 58960 kg
¢) kg = 209 kg 780 g = g

e) kg = 337 kg 220 g = g

g) 408,43 kg = kg g = g
i) 35,34 t = t kg — kg
Aufgabe 3

Ergénze wie im Beispiel a).

a) 43,57 Euro = 43 Euro 57 Cent = 4357 Cent

b) Euro = Euro Cent = 6575 Cent
c) Euro = Euro Cent = 8118 Cent
d) 24,2 Euro = Euro Cent =

e) Euro = 97 Euro 27 Cent = Cent

f) 14,78 Euro = Euro Cent =

g) Euro = 34 Euro 64 Cent = Cent

h) 54,13 Euro = Euro Cent =

i Euro = 7 Euro 40 Cent = Cent

j) Euro = 91 Euro 63 Cent = Cent
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b) 9,3 dm = dm cm = cm
d) dm =7dm 4 cm = cm
cm = 3 cm 1 mm = mm

km = 81 km 520 m = m

j) 12,46 km = km m = m

kg = 958 kg 480 g = g

kg = kg g =901870 g
f) 94,68 t = t kg = kg

t = t kg = 44770 kg

kg = 85 kg 760 g = g
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Aufgabe 4

Ergénze wie im Beispiel a).

a) 71,66 a = 71 a 66 m2 — 7166 m>

b) dm? = dm? cm? = 9374 cm?

c) dm? = 17 dm? 38 cm? = cm? d) ha =45 ha 31 a = a

e) ha = 16 ha 10 a = a f) dm? — dm? cm? — 9684 cm?
g) ha = ha a = 6325 a

h) 97,78 em? = em? mm? = mm? i) ha=36hab2a=  a
i) dm? = 22 dm? 23 em? — cm?

Viel Erfolg!
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